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1.1 SA&81IERFMAIE

1. 4 H8ES-3,-2,-1,0,1,2,3 HIFERIERIE.

{zlx € Z,-3 <x <3}
2. Fllr 2 F1 2 R ETFIEEHITER.

(1) {z|z2 KT 1 BIE%
2 &, 2 /K.

(2) {z|xRREEETIF T}
242, 2 AR,

(3) {2,{2}}
2%, 2 /.

(4) {{2}, {{2}}}
2 NI, 2 JE.

(5) {{2},{2,{2}}}
2 A, 2 52,

(6) {{{2}}}
242, 2 A8 E.

3. AR AR AL ? MRS AN AL ? A A

(1) 0 € {0,{0}}

S,

Y

M

=

(2) 0 < {0,{0}}

M

(3) {0} € {0,{0}}
JRL o

(4) {{0}} € {0,{0}}

=



1.2 H£E6HMEE
1 ¥ A £ ECNU —4EZ22 0E S, B R ECNU £ 410%% 5 B BORUE RS2 (0 4. 15T A A
B 255 ECNU AR0522 =) BN I0 — AE SR 2L (R4 4
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2. W A RIS, AR L E BOL?

(1) A € P(A)

(4) {A} € P(4)

3. % A Ml B RAER&ES, IEM P(A)NP(B)=P(ANB).

IEEA
IEBA :
X € P(A)N P(B)

<X € P(A)BX € P(B)

sXCAXCB

X CANB

<X € P(ANB)

~P(A)NP(B) = P(ANB)

O
4. WA RATEES, A% = (AxA)xA = Ax(AxA) REWL? ~tHA4?

—r, kA = {1}, WMA3 = {(1,1,1)},(Ax A) x A = {((1,1),)},A x (A x A) =
{(L, (1, 1))}

5 P AB-C 1D ZES,IFW: & A.B.C f1 D A4, H AxB=CxD, #i4 A=C H B=D.
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1.2 H4581

z;\\
=

EBA

%A+ CHB #D

M3z,z € Az ¢ CdaeCxd A
XIy,y € B,y¢ DRy e D,y ¢ B
Tpigk e,z € A,z ¢ C

- B3R

. XbeB

W (z,b) € Ax B

gl

S (x,b) ¢ Cx D
SLAXB#CXD

EXNE )

S FA, B, C#D3¥E=%E, HAxB=CxD,
ARALA=CHB=D,

6. * WE—NMET, MMNMEE—DNERE n, it P(1,2,-n) MR IGE.
(JavaScript, Nodejs #14%)

const readline = require("readline");

const rl = readline.createInterface({

I3

input: process.stdin,

output: process.stdout,

let n;

function get_pow_set(end_num) {

end_num = parselnt(end_num) ;
let pow_set = [[1];
for (let i = 1; i <= end_num; i++) {
pow_set = pow_set.concat(pow_set.map((ele) => {

return ele.concat([i]);

)
}
return pow_set;
}
rl.question("", (answer) => {

n = parselnt(answer) ;

console.log(get_pow_set(n));



rl.close();
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